ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 8, Deformation Due to Flexure

problem 8.060, page 665

Remarks: See 8 8.4, pages 598 till 633

Answers 8.60: 1:

)Py =——

)25 =" 400

b) u,.; =30mm

C) U.p =15mm
u,p =—15mm

d) u,. =15mm

u,.=-15mm

y;C

Explanation 8.60: 1:

Explanation 8.60: 1:
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b)

U5 = 26, + 20,

U,.; =0.03m
c)

U,p = -3¢, —6, = 0.015m
U, = 6, +46, =—0.015m

d)
U.c =—3p, —6, =0.015m

U,c =3¢, +6,=-0.015m
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ANSWERS — VOLUME2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 8, Deformation Due to Flexure problem 8.060, page 665

Answers 8.60: 2:

)@, =——=

)25 =300

b) u,.; =15mm

C) U.p =7.5mm
Uy,.p =—-30mm

d) u,. =7.5mm

U,c =—7.5mm

Last update:18-02-08



